
Soustraire des fractions mixtes négatives (H)

Nom: Date: Note:

Calculez chaque différence.

1. (−256) − 115 =

2. (−412) −
1
3 =

3. (−134) − (−423) =

4. (−145) − (−113) =

5. (−414) − (−423) =

6. (−113) − 334 =

7. (−223) − (−512) =

8. (−314) − 113 =

9. (−556) −
4
5 =

10. (−216) −
3
5 =
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Soustraire des fractions mixtes négatives (H) Réponses

Nom: Date: Note:

Calculez chaque différence.

1. (−256) − 115 = (−176 ) −
6
5 = (−8530) −

36
30 = (−12130 ) = (−4 130)

2. (−412) −
1
3 = (−92) −

1
3 = (−276 ) −

2
6 = (−296 ) = (−456)

3. (−134) − (−423) = (−74) − (−143 ) = (−2112) − (−5612) = 35
12 = 21112

4. (−145) − (−113) = (−95) − (−43) = (−2715) − (−2015) = (− 7
15)

5. (−414) − (−423) = (−174 ) − (−143 ) = (−5112) − (−5612) = 5
12

6. (−113) − 334 = (−43) −
15
4 = (−1612) −

45
12 = (−6112) = (−5 112)

7. (−223) − (−512) = (−83) − (−112 ) = (−166 ) − (−336 ) = 17
6 = 256

8. (−314) − 113 = (−134 ) −
4
3 = (−3912) −

16
12 = (−5512) = (−4 712)

9. (−556) −
4
5 = (−356 ) −

4
5 = (−17530 ) −

24
30 = (−19930 ) = (−61930)

10. (−216) −
3
5 = (−136 ) −

3
5 = (−6530) −

18
30 = (−8330) = (−22330)
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